Exercices pour s'entrainer (calculs d'éléments de

triangles

rectangles) : réponses.

1.  ©osd0° = J—% dou |ab|=3.cos50°=193.
2.0 tm ke = '—lv(-‘,-”-'- dod | vw|=10.1tg28°~ 532 .
3. |bcl2=|ab]?2 +]ac2 dou 121 =64+ |ac|2
dod |ac|=+57=%755.
4, cos 62° = ik dot |ac]= "i—o ~ 8,52 .
| ac | cos 62
5. |xzP=|xy2 +|yz]2 don |xz[2=225+ 1600
dou |xz|=+v1825=4272.
6. tg o= ?g = 1,7647 d'ou (INV TAN) o = 60,46° .
7.  sin 19° = 'l—%l dot |km|=100. sin 19° ~ 32,56 .
8. cosbe g =0,625 d'ou (INV COS) B = 51,32°.
9.  cogd2= | blé_'l_ dou |bc|= &1'520 = 1,62 .
e 9
: - prl= = = =2 28
i 122 Lor d'ou |pr| ig 22 =~ 22,28
Il s 80" = |—)275Z—| dou |yz|= si'i_lngO = 25,39 .
12 -

sin 6 = = 0,4 dou (INV SIN) 6 =23,58°.




